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XHEE A 10 AREHXHE, —BEH—B -G &E—0,. REHNEAFRE —HE. K
kR B EEE, LA TEAK, T ARG E, B R D EER, I EERAR RE—R. XRER
EHENERBER BRI BESEEEEHMNENNE, EE RO RN EEEFEEER. X
W FEWIAHE AL EBOKT LR EERES .
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77 52 EE ‘
v
ENNEXMERS GREVWERERAN, BAESRIFHEE, TEQFE KA
B A R EER,

© HAmA :

R — B B AR TEWT S B R B R R KA ME R . EEF XN EBAE WA
FFI T PR . B A 3R ) T A

a. Where does this conversation probably take place?
b. Where did it happen?

———y
c. Where is. .. ? v

d. What kind of store is she going to?

NG BEERMEWFI R, b RLHENNERAEM. TEFEELHMXBRS LR
LU S REFAERREAG R EECEFN, R B HATER N H .

fi] : M: Excuse me. I'd like to place an advertisement for a used car in the Sunday edition of your paper.

W: OK. But you have to run your advertisement all week. We can’t carry it for just Sunday.
Q: Where is the conversation most probably taking place?
A) At a newsstand. B) At a newspaper office.
C) At a car dealer’s. D) At a publishing house. [0206 ,09 ]
(BFR]IB. GRENE. B3 REERIMBENE R EZ KRB -FEHR 4. &+
Bo AT RA (BRI B — A B, AT BE R7EJA AR b %, AT HE BT - 3 0 0F 35 7R T BB R A 7 —
EMAHEWDAEN, '
$1 : W George, look at the long waiting line. I am glad you’ve made a reservation.
M: More and more people enjoy eating out now. Besides, this place is especially popular with the
overseas students.
Q: Where did the conversation most probably take place?
A) At a theatre. B) At a restaurant.
C) At a booking office. D) At a railway station. [0306,01]
[(BFRIB. LU EHTREMNMRELE LT RBUTT . B LBk B S AT R S
RAZAR , B AU E R BIRE &, B L AT #EA0 B) IEH

@ RfEREAY
] L — e % A A T BRAR B BRI HE A SE e (A O 5 R . B O R PR B T
— B B E A 38 R AR 6] . LB LR AR ) O A

a. When does the conversation take place?

b. When does the man want to leave?

c. How long did it take the man to write his paper?
d. When did the football match start?

O EFESHEPRTAMH 2002 £ 6 AERABHPNE 9 Bo THE.

2 .
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ING AR AR R AN E R, E AT RSB RE, AEBER AL, AR
FNEKETAAHEE L BRI BFREEALTHLNE, ¥ THEAZHER, 0
WAERGHEL R P EEE T4 R4 W%

#l: M: T wonder if Sue will be here by five.

W: Her husband said she left home at half past four. She should be here at ten after five and a
quarter past five at the latest.

Q: What time did Sue leave home?

A) 5:10. B) 5:00 C) 4:30 D) 5:15 [0106,07]

(BERIO. FEBIR, Lt Sue HysE KM IS L MM K BHET . #0%E O,

Q MERFAMKXFRBE

ABREBE MRS ER S ZRIMAKR. AR
What is the probable relationship between the two speakers?
NG X AEEN, EERARAETHANERBEAS O ANEERAIXERA. £
FXEXBAFHAEN R AHEANHEE.
#i : W. T heard you got full marks in the maths exams. Congratulations! )
M: Thanks. I'm sure you also did a good job. ‘
Q: What’s the probable relationship between the two speakers?
A) A math teacher and his colleague. B) A teacher and his student.
C) A librarian and a student. D) A student and his classmate. [0106,01]
[(BRID). XERAEE, £+ R EBLHELERBETHS. B3 REERLEBRE,
also 24 RE i B iA]

@  HRull | b R AL

HPMb 4 b R A B 2 SROE W R AE SO BB AR o TR AR AE X TR R A — B R B, 44 IR AR TR
MIESE. XA B THAERBIFIWRKEE HAHOETEES SRS 2%, ¥ RRRAERE .

a. What’s the woman’s job?
b. What’s the profession of the man?
¢. Who is the woman probably speaking to?

N X KBMENEERBE T BT RINEXEH, ﬁ%if?#‘w/n#’ KR
FOHBRTRAEFHEHRLESE.
‘B ostage for it?

1 : W. Excuse me, sir. I'm going to send this parcel to London. What’s the

M: Let me see. It’s one pound fifty.
Q: Who is the woman most probably speaking to?
A) A railway porter. B) A taxi driver.
C) A bus conductor. D) A postal clerk. (9706 ,05 ]
(BRI D). XFiE S REMFM XA 2 . parcel (HFAL) A postage(HB¥E) . T WL, % i B 45 7] B &
AT W Ry 5 33X 67 Zr - 2 A BRI JR B IS L 3k D) .
BHREMHEE, RATEE T AW R o, E AR BR PR E IR T .
NG LR REW S RAE ERE A RE T E b 4 & R R %407
BRENMHE R MXADN S DL, TREWAEALEZ, R EERA . when,

o3o
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where, who ft what, B it & AW EHDALELGREE.

IRBNEARERE T ZABWXBREET. BAERERE R AW ERFH
MABREILERREIHR. ATASEGRERR . FEXATRENO TR EER
WEE, REFENANLH X R AR EEA.

IES 11t

: v
A RBRY 11 5 1 56 B R SO R ) 2 T R IR 2, R AT 2 S i FRI L AR Ry DB A . A G B
MREH , B A SRR . B AR AT K -

a. What does the man mean?
b. What does the man say about. . . ?

#] : W Are you coming with me to the history museum, George?
M: I already have my hands full with this book report.
Q: What does the man mean?
A) He must hand in a report about the museum.
B) He has already visited the museum.
C) He has to read history book.
D) He is too busy to go with her. [9901,08]
(BERID), xtiEdhLtmE HEE 'ﬁft&ﬂ%ﬁfﬁiiﬁ%’fﬁ BLEAEEATEE, MRZRRKIE
TEESERRE. BREEERRMART T AR BB HE L., MO 274 have my hands full,
FEHEHN R, RETHXMAHNERERNAESEX, 2 DI,
1) :W: I'd like to buy a copy of Professor Franklin's book on sea shells.
M: I'm sorry, Ms. That book has been out of print for some time now.
Q: What does the man say about the book?
A) It is no longer available.
B) It has been reprinted four times.
C) The store doesn’t have it now, but will have it soon.
D) The information ‘in the book is out of date. [ 9806 , 08 ]
[BR] A XHXHERD £ 872 out of print “(BLH DL, HHEXL—A&H, BH%.
WHELEMR T . RBFSC RE ADTE XS ZHAF, /THRR B) I BP9 ; O 104 5 BL7E % 5%, HAR
B 24T DI AR EL 0 ,
NG RRFAMLYE R, - BEENTER AL HAERAE P, I THRERARE., BrET
KEFA CRALTHROF S, BAXKBENELET AR XBR A FAAR T EREH %,
ERETRE, MEXEN FHER., FUREMEARE EEREZLN.

7§ REWHHEL

v
L5 A W RSB I K% 24 o 0 T D A B AE g . X SRR R N imply BX infer 3X P54 f BE SR, TR
75 A AR X 3 T 1R (3% R £ JB 10 L TE 8 DT A B A S SHAEH B EERFAF T .
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a. What do we learn from the conversation? f. What’s their opinion of Linda’s brother?

b. What does the conversation tell us? g. What does the man mean?

c. Why can’t the woman find the book? h. What can we conclude from the man’s reply?
d. What is the man doing? i. What happened to the woman?

e. What will the weather be like? j. What was the consequence of the accident?

] : M. Jack seems to think that this year’s basketball season will be disappointing.
W That’s his opinic;n. Most others think differently.
Q: What does the woman mean?
A) 'She shares Jack’s opinion. B) Most people will find basketball boring.
C) Jack’s performance is disappointing. D) She does not agree with Jack.
[AR]ID). FAMEEA. L+ RRMAILA HIAKSAREER . dUt ] L, A A 5
VL .
ING AR ENERASNTER 2 SHLANRY L, CHRE) RNV I H S
B, ZERHEBENRE T A A RERAEATEAGHAT . CENBN, KELZAR
WAKEEHF, SARBAWRERRA RENXLXANRNARTRETLRR LA,
EMAERXEAFHLAEELRSIET. AALLEEVHE TN ERNER  ZRBBA#
HERLE, X—VHERLLAMLRITAAT, TN, BB AR50 £ 5 22 A W&
4.
RAERWHEEIRAETRENERBATELS A KEHFHEE. XXFAEHNNLER
EHALEXRATTHRBAEFNERA-—RAFERER. Bl . BMZXBWEE, MR E
FEUBOARANEFA ALRT L LB AE —HEALE TR IAhH I, 744K 7%
PRBRARAR XL,

B AVAAME 5 A B A T5 22 )5 o i ok 4 PO R A SR 45 6 HE TR AS 22 R G R K 250
Ts

44 $BUTEE

v
i BUT R R 4 AE R 5 — U018 A BT 5 T0 O SR 5 5 U0 v A0 28 305 o WA 0 2 AR« S — A
A, EE— BT O AR S KA T Z B bue Bk R B 5 U A P 4y
PR but RA KRR M RARA AR . R FRIX SR o BUT AL, 2 L0 B
BARRRATTXA

What do we learn from this conversation?

g P

. How does the man feel about his job?
What did the man do last night?
. Why can’t Professor Hill answer her questions now?

g o

£ : W Did you see last night film on Channel 47
M: Well, I meant to see it, but a friend of mine came to see me. We had a nice long talk about
our school days.
Q: What did the man do last night?
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A) He watched television with his friend.

B) He stayed at home talking with his friend.

C) He went to see a film with his friend.

D) He went to see his schoolmate. [9901,01]

[(ER]I B, LR RIERE T WREREE TE? B+5. A0FRE. HEAMNAKRE
O RINTGRIERWIRE B F . —WUr B A5, D Bk iZ B WX 24 BUT R, (6] 55 (G 4R 5 )
but J5 H A — R AR T, ZRGiIRIT . R PR LT b R 5 2 & AR
Y B B I, MR 7E 5K LR A AR . T H A 26 00 A BRI A B O B A B oY ;D) £ F Mt
B[R] 2% , 35 7] LAHERR

] : M Is this the check-in counter for Flight 914 to Los Angeles?

W Yes. But I'm sorry the flight is delayed because of a minor mechanical problem. Please wait
for further notice.

Q: What do we learn from this conversation?

A) The plane’s departure time remains unknown.

B) The man went to a wrong check-in counter.

C) The man has just missed his flight.

D) The plane will leave at 9 : 14. [0206,08]

(ER] A . LMW, Ul X —ATHEE R — A/ AL AR A R 7 48 38 i S 5 — 08
o LA, RHLEER KRR E . B) O D) AT HERR . X B — N BUT iR, % — 1 ARIER
HE HEMORBE-AANIE, BEKNEEE bt FENAS, CEEZEEE . — 2 WHLE A, U
BEHERR OB ; — RAUMBE , S B8 AT HEBR B) I ; = 2 4513 o — 4558 40, 38 B 9 18 B i Gt ], 4
k& DI ,

WP BUT BB ERRFAE - REANER HERABEEAE bt GEHWKGT L,
MER—REARERE R BALRNEITRRRA. & 4 B H A% E EIE but B
KETFTHER. mRMBEATEX K EALEEWFEREYHEN. BATRALEHE —
UEAWERFE R EALR GG TFHAAFEEE AT R, T but t %346 A#4 but
HEWANM FTHARPRAMLER UL REZAEFAN DA LT EHB TR, 2
¥t EREE.

FIRETERE

v
B 75 R AR B R S SR R T B B R B AR 75 2 7, sk R A T 1 R 1, SC B
TN XE—T7 PR AV, 55— 5 A BB A X A 1o B, TR T — A S, X A E S R
BRE. P BAXMEHERN S B RSB, B WREERY .
What does the man/woman mean?
5] : W: I need a car this weekend, but mine has broken down.
M: I'm sorry to hear it, but you can always rent one if you have a licence.
Q: What does the man mean?
A) She can use his car. B) She can borrow someone else’s car.
C) She must get her car fixed. D) She can’t borrow his car. (9306, 06 ]
(ERID) . MiEh L L X MEARRAE, TRROER 7. SHZERERESER AN
TREVE? B EBR S TEE MR RGBT RE 2 B8, AR AT AR — % . st i, R

-6.
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TRESHRRERE  STROIEAL T L LK. BTLURSE A7, 5T 58 DY T4 A .
FA S BUT F3U5Y 5648 17 f %
f5] : M Congratulations! I understand you've got a job. When will you start to work?
W: You must be thinking of someone else. I'm still waiting to hear the good news.
Q: What does the woman mean?
A) She doesn’t need the job. B) She hasn’t got a job yet.
C) She has got a job. D) She is going to start work soon. (9606 ,02 ]
[ERIB . XERS LSRR RAERRE TIET A ABHBEIF G EHE? 6% A i
L R — R AT  REEEERXANFHEE., BREY, —ERINARS TH
TR RI . BARABRA RB) T, REESWH LR, FH i, 077 B B IN EMEE,

77 EMESER

A\ 4
G A — TS P EE BEGER AN, X KB R T R0E B R % LAY BE E S
ZER A TR INT .
OF L £S A0 T LT

) would

Y wese A should
Mo+ — it KA A QB AE

might

P T R 1B H e/ SR 4 BN (B AR 2 B T T e
T VPR LA = R B R I
@ R LR IR 9 B 4
would

should
Mot — it RTE, £ 4 o 1q + bave + i FoMA

might

i : W If it hadn’t been snowing so hard, I might have been home by 9 o’clock.
M: It’s too bad you didn’t make it. Jane was here and she wanted to see you.
Q: What happened to the woman?
A) She got home before 9 o’clock.
B) She had a bad cold.
C) She had a car accident.
D) She was delayed. (9606 ,03 ]
[(ARID. UEXERT S5 XF LR ABBEAD. BUEDNELLEW, Lo Ui+
SHAT . BiIZA4 A hadn't been,§n0Mng XA S8 AT B E 2K, £ 4 o F might have i -
i %43 been (home), FiR:%E FAIRA, 9 MATHR K AL L H%K. Lo, A, Lt RE
Lt R R AR E R T RZMH. WA T DTS, B, #5208 B 5068 iE B e s i
ARG B BRI RE PR IS B HR R, A B B 4L 4% R A L B2 T 2
B XTCEEEM T WA B SCHMERE . Ao, RE LT 24, BB MILAE IS, 00 E 3 R,
H T2 HIRBOR Y KB H , RATARL404R, BB A SRR SN ST S ELBA R,
Q FRAREL BB . wish+ WA ONAIH B IIZ5H 5 if BB 40045 2 A R A [RDD

.7.
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5] ;W . Mr. Jones, your student Bill shows great enthusiasm for musical instrument,
M: 1 only wish he should have as much for his English lessons.
Q: What do we learn from the conversation about Bill?
A) He has made great progress in his English.
B) He is not very interested in English songs.
C) He is a student of the music department.
D) He is not very enthusiastic about his English lessons. [0106,04]
[ER] D), #EWE. &+ Bill X ARHFEFRL. B3 2 7 S A BB R 4 #G0 B
T . HHET S, Bill %P EEIRAIR A Pl Bk D).
@ FRARESCHLAY R . If only-+ WA (4544 5 wish J5 9 AT ARTFD
5] . W, 1 wish my hair was longer.
M: Yes, pity you had it cut. If only you'd listened to me.
Q: What can we learn from the dialogue?
A) The man didn’t want the woman to have her hair cut.
B) The woman followed the man’s advice.
C) The woman is wearing long hair now.
D) The man didn’t care if the woman had her hair cut or not. [ 9401 ,09]]

(2% A, &5 I only J5 M # M A A 9 24 25 58 U had listened, FR5dEELEM
B R AR R IR 2 S bR b, kWA IS, KR MR T . B i, 75 &
R R TTR AT

NG EMESHEENRENTHATA., CHEXBREERRFAER WRRERT
BEEAEEXWERMEW®T ., £ALELRXKME XRETRET HAAANEN
BRMWERLEN AEEMENEATHLENBREEX.

ERA—SERBEL . AARNABH BT E5AFLANFERSHIR . ART
EREELHRNENAR AR T E R FLHRWENA G BART SR REX
HEHBENALEA., EHAERAZE, -~ REAHSAR, FE—RRERRELERWER
BEMEMHATENEE, B0, AREEFANEE, e X2, U, FEHAENE
EXWEE,BENANSK,FERFRE GRS, FAEK.

JIENREE
A 4
MG A — SRR B EAE THBTEEETERBENN— AR, 2HREREE
R B R R
a. Why don’t you ...? d. How about ...?
b. Why not ... ? e. Wouldn’t ... be wiser?
c. Why bether ... ? f. Would ... do?

DL E SR QR A BURE D B R B R, VK% . B ER BRI
WA, AP X s m B S EAsA JANE—&, ETREZH.

@ Why don’t you ... 7 5 Why not ... 7 B%AEH LM MR, XEMEKE AR
J& Why don’t you FI why not & [ B . 326 6 IR B 27 4 4 e, B T B0 vh AR A B 19 ) )

'8'
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ST o A S S S R AR A TR 7 A e . 5 R T 9 AR, R LA R o B A R T o
HEHRSNEER,
] : W The movie starts in 5 minutes and there’s bound to be a long line.
M: Why don’t we come back for the next show? I'm sure it would be less crowded.
Q: What is the man suggesting?
A) Coming back for a later show. B) Waiting in a queue.
C) Coming back in five minutes. D) Not going to the movie today. [ 9606 , 07 ]
(BRI A . BEM@EHHKE the next show, TI7EHTTH Fl a later show fE& . B, iE
SN SCRTBE, R BT R A B . BAPIEREH RN B S LR, 08687 E
AL R HBMIE B EHSEAS M.
© Why bother. .. 7 3] B fy 3 A& S0 J8 % 173045 LA F 000 . A Why not do sth, #z
B B EER not, B L REE HLERE Y FREEMN, BRI A3 Why do sth,
AU, BARWAHTER not, BR EEEEM JHERF L REEH, RN ASHESE,
fil: W 1 ought to call Joan and tell her about their reception of this evening.
M. Why bother, you'll see her at lunch.
Q: What does the man mean?
A) She can tell Joan when she sees her at noon.
B) She should tell Joan’s brother about the reception.
C) She must call on Joan after the reception.
D) She may see Joan’s brother at lunch. [9906,10]
[EFR] A . #RHEHIT ., Why bother ZoR @I, B KM & &1 not, B b EH 0,855
FXHREER WEBIEARMER, WHEP L L REITRIE SRRSO R EL2MER, B+
& ARGV IR PR R LB (B T . B BRERS R BTHRIET , B R LR h4F R,
2] it Bf FF 160
@ How about ... 7 %4 HMRMFKEZ RN AE, SENH How about ... 7 RS
BEREW ., X EMERERT BEBERSRST.
5l :W. We do need another bookshelf in this room, but the problem is the space for it.
M. How about moving the old dining table to the kitchen?
Q: What does the man suggest they should do?
A) Find a larger room. B) Sell the old table.
C) Buy two bookshelves. D) Rearrange some furniture. [ 9506 ,10]]
[EFR]ID). UrE| How about...? JXAG5H, B B 5548 BB R AR . MR IR A g A “dm
IF 4 S 4 20 5T 55 L7, B0 T A HERR BT =30, st ) DYTIA ERA R .
@ Wouldn't ... be wiser? fl Would ... do? {8 T —RK gy #l Xof 1 R R S A T 3 A —
TR A B T R R IR /) SO M ) — R B 1), R TT AT 48 — B A BRI, Bk E g, mm
FAWT v L B H R4 T0 A% . T I AT SE R G B % T
# 1. W. I'm thinking of taking five courses next semester.
M. Wouldn’t four be wiser?
Q: What does the man mean?
A) There are too many courses offered to students.
B) The woman should take fewer courses next term.,

C) The man will take four courses next semester.

090
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D) It is wiser to take more than four courses.
[(BER]IB. [ 9906 ,05]
il 2. W, Could you lend me a pen? Mine has just run out of ink.
M. I'm afraid I don’t have an extra one. Would a pencil do?

Q: How did the man respond to the woman’s request?

A) He lent her his extra pen. B) He was afraid of losing his pen.
C) He offered her a pencil. D) He said he didn’t have any extra ink.
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i : M; Did Henry paint the whole house himsel{?
W. He had it painted, because he doesn’t like climbing ladders.

Q: What do we learn from the conversation?

- A) Henry doesn’t like the color. B) Someone else painted the house.
C) There was no ladder in the house. D) Henry painted the house himself.
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5] : M Are you sure you have corrected all the typing errors in this paper?
W, Perhaps, I'd better read it through.
Q: What’s the woman going to do?
A) Collect papers for the man. B) Do the typing once again.
C) Check the paper for typing errors. D) Read the whole newspaper. [ 9706, 08 ]
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5] : M Is the snack bar always this deserted?

W It's the end of the semester. Everyone is in the library studying.
Q: What does the woman mean?

A) The snack bar isn't usually so empty.

B) You can get dessert at the end of the counter.

C) The snack bar is near the library.

D) Snacks aren’t allowed in the library.
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] : M: Let’s see if the basketball game has started yet.
W Started? It must be clear who is winning by now.
Q: What does the woman mean?
A) She is sure who is going to win.
B) Now it is a good time to start the game,

() The game has been going on for a long time.

D) The same team always wins. [ 9601 .08 ]
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a. What is the passage mainly about?
b. What does the passage mainly discuss?
c. What do we learn from the story?
d. What is the main idea of this passage?
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4n 1997 4£ 1 J 14 Passage Two ;

52 3CTF 3k 0 There are many reasons why family life in Britain has changed so much in the last fif-
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14. What is this passage mainly about?

A) The liberation movement of British women. B) Rapid economic development in Britain.
C) Changing attitude to family life. D) Reasons for changes in family life in Britain,
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20. What is the main idea of the passage?

A) The city can be a lonely place. B) Life in the West can be very dangerous.
C) People in the West are fond of animals. D) The dog is a useful and friendly animal.
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%] : What do we learn from the story?

A) The trip didn't do any good to his health.
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